Efficiency vs hit

1.2

efficiency vs hits

I

w11

il I
2 “H
@ 1
o d
1
i1
0.9
0 10 20 30 40 50 80
TP hits
—— D! T_Orl TOUUEVT
= poM- ongg nal_ 10@0&7'& -
—e— DQMfitted
—— DQMfit. cpe‘OK 100
— —— DOMfit” CpeOK_SORTRZZ 1000evt
[ Efficiend —— DOM it cheOK-SORTRZ2 TESTOUTLIER3_1000evt
n 1.2
o 1.2r
[
s [
g [
» I
o T
zZ [
8 L
S o0.8f-
s T
e I
= [
0.6f-
0.4f-
0.2
s i i i i
o w
2 +; ; _I_
e [ 5 RSN SpPeTE,
=TT | LR v[ll
0.9 . .

5 10 15 20 25
TP layers

Efficiency vs pixel layer
0.8,

0.7
0.6
0.5

0.4

efficiency vs pixel layers

0.3
0.2

0.1

Ratio
|
|

T

0 1 2 3 4 5 6

0.95! 8
TP pixel layers

Efficiency vs 3D layer

1.2

efficiency vs 3D layers
o o
[o2} o]

o
N
T

I
)

Ratio

1

+J:J_L :
_Ilvvvav-l-r__ T
2 4 6 8 101214161820
TP 3D layers




	Contents
	Page 1


